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Question Number : 1 Question Id : 61097512425 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
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It |11 — 3x
by =%
Options :
1. 0
2.7
3.
-0
4,

1.1
17
14

10
16
13

=0 then the value of ¥ 15

Question Number : 2 Question Id : 61097512426 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The co-factors of the elements 2.-5 1 the matrix (

Options:

1 16.3

-

]
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Question Number : 3 Question Id : 61097512427 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The solution of the following simultaneous linear equations by using Cramer’s rule 3x—4v+3z=13:

2x-yH8z=13 SxlyrTz=0 i

Options :
1, Hdiadad

Question Number : 4 Question Id : 61097512428 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

0 g A
ItA = ( —4 0 8 ) 1s a skew symmetric matnx then the value of v 18
Y2 =8 X
Options :
1
1.
-8
it
2.
-
3.
()
4.
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Question Number : 5 Question Id : 61097512429 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

[l 3
The adjomt of the mamx A = ( 1 4 3 ) 15
vl 5 4

Options :

Question Number : 6 Question Id : 61097512430 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . . Sx+1 . : - :
Resolve the rational function 11170 pﬂlTlﬁl Iractions

a2 [a=1)

Options :

£
[S]
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x+2 gt B
2.
-3 Z
g
3 v+ 2 r—1
3 2
4 x—2 ¥ x4+1

Question Number : 7 Question Id : 61097512431 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

-~
(=]

A

Resolve the rational function mto partial tractions

. - o

A i
(x2+1)

Options :
X X
2241 [x2+1)2
il
X X
xZ~1  (x2+1)2
2, |
X X
xi+1 (x2—1)2
3.,

xi41 REES N
4. { )

Question Number : 8 Question Id : 61097512432 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical



Suppose that 4, B, € are positive and A + B + € = 90° then the value of . tand tanB i
Options :

-1
1.

fis

Question Number : 9 Question Id : 61097512433 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The value of cos100°c0s40° + sin100%sin40° is

Options :

=
B ]y

Question Number : 10 Question Id : 61097512434 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ww COR@ sing P i ; o G ;
1f = — then the value ot acos2a + dDsinZa 1
a o

Options :

1. g=b

i)

(!

it

Question Number : 11 Question Id : 61097512435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1 L
x

= 2cos8 then the value of 13+ — 19

3

If v+

Options :
1 200836

3‘3CDS35

251n36

Question Number : 12 Question Id : 61097512436 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 i Y -
then the value of fan (T) 15

. : 1
It sihy + siny = " and cosxy + cosy =

0a ]

Options :

I~
d= | Ul

L
g | =2

o | 0

Question Number : 13 Question Id : 61097512437 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The general solution tor Vv3cos8 = siné 1s

Options :

" !

e 50 e

1.

LA
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Question Number : 14 Question Id : 61097512438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
. -~ . 1 , :
The conunen selution for cosf = ——=.tanf = —1 15
o

Options:

2

niT +
1. 3
5
2NT + —
2, 3
T
SHR +—
3. =
Vi
4

Question Number : 15 Question Id : 61097512439 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If ¥ 15 an acute angle and sin(x + 10%) = cos(3x — 68°) then the value of ¥ 13

Options :

g BT

5 B7°

e
02
o

o

_l.c.
4 10
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Question Number : 16 Question Id : 61097512440 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
The value of tan {2) + tan™*(3) is

Options :

am

Question Number : 17 Question Id : 61097512441 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
; ; \."E):| e

The value of cos [53‘;1-1 (_) PR | (

Options :

()
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Question Number : 18 Question Id : 61097512442 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The modulus of the complex number (—1 — v37) 1s

Options :

1. L

Question Number : 19 Question Id : 61097512443 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

S

e ] V3 I -
The value ot (— # :) — ( = :) 15

Options :
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Question Number : 20 Question Id : 61097512444 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

he radius of the circle of the equation x* +ve —4yv —8v—41 =0 1s
TI { ttl le of tl 1 R 8 41 =0

Options:

V31

Question Number : 21 Question Id : 61097512445 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

o ' i ( 7, . g ) ) 12 s 3 ) _ - 2 .
It the lme 2v =5 +k 1catangent to the parabola v = 61 then the valugof &k 15

Options :

—
TR
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| G

| o

Lty |-

Ans : no correct option

Question Number : 22 Question Id : 61097512446 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of latus rectum of the ellipse 91 + 16V = 144 15

Options :

7

1e 2

S ]

[

(S I

Question Number : 23 Question Id : 61097512447 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The centre of the hyperbola 4x* — 5vZ — 16X + 10v + 31 =0 15

Options :
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i

5 (3.1)

3 (—2.1)
(2, —~1)

Question Number : 24 Question Id : 61097512448 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The angle between nvo tangents drawn from the point {1,4) to the parabola v* = 121 13

Options:

tan"1(2)

1, e

Question Number : 25 Question Id : 61097512449 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the tangent from (1.3) tothe cirele ¥2 + v = 2v +4v - 11 =10 15
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Options :

-
)

1.

Question Number : 26 Question Id : 61097512450 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

o VIto—1\ .
The value of lim ( ) 15

r—o v X

Options :

ta | =

Question Number : 27 Question Id : 61097512451 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The derivative of f(x) =

Options :

— 2

(a+x)2

1.

(a—x)°=

a—x

at+x

(v = —q) is

Question Number : 28 Question Id : 61097512452 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If v=a|cost+lag (E"mz ;)} ,

Options :
1. —tant

rant

fanft + sint

sint

: ay:
v = asint then =

-

]
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Question Number : 29 Question Id : 61097512453 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
It an error of 3% occurs m measuring the side of a cube then the percentage error 1 1ts volume 1

Options :
1. =7

Question Number : 30 Question Id : 61097512454 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The slope ot the tangent to the curve v = 5x* at the pomt v = —1 15

Options :

1. =

—= 10

e L}
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Question Number : 31 Question Id : 61097512455 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The angle between the curves xv =2 and %+ 4v = 0 13

Options :

cos~1(3)

Question Number : 32 Question Id : 61097512456 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

-3 =y k]

Forall values of @ and b. f(x) =x* +3ax* +3a*x+3c¢>+bh 15
Options :

Increasing only

> Decreasing only

Increasing and Decreasing

3.

4 MAXIIININ
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Question Number : 33 Question Id : 61097512457 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

I

The mmumum value ot f{yv) =4y —4x+ 1l forany ¥ m R 15

Options :

—10 at x =é
, L0ary =7
8 atx ==

3
0 i et
4. -

Question Number : 34 Question Id : 61097512458 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Z = (LTdll. all v 1€ (Sl 2y )— 1+ |5 ST T
It z=log(tanx +tany) tl (sin2x) —- + (sin 2V ) -
. -ltl- . 1'.1

Options :

B
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Question Number : 35 Question Id : 61097512459 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If u=tan-1 (

Options:

l 1 ¥
=Sl 2l
1. )
—iEDSEu
2. -
l ] #
—sin 2u
.
3.
il
—tan 2u
4, ~

— =

v - du
) then X
d

Question Number : 36 Question Id : 61097512460 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- i . i 3
The value of | sin=x d.

Options :

X sin 2x
1. 2 o
X sin 2x
= -
2 4
2

-

]
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Question Number : 37 Question Id : 61097512461 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The value of [ xvydyon (0.0) is

Options:

2 2
=X Y2 T
1. 3
3 5
) _EL 2 el
2 waf
=% 124 F
3 =
2 3
—X 2T
pul
4,

Question Number : 38 Question Id : 61097512462 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value ot | V4 —x* dx 15

Options :

1.

gcollegeduniaa

]



3| =

Question Number : 39 Question Id : 61097512463 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

L B

2 Vein x

The value ot | |7 — dy 1s
Ymi6 ysinx+ycosx

Options :

ta | =1

Question Number : 40 Question Id : 61097512464 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
The area enclosed by the curves v = 3x and v = 61 — x° Il square units is

Options :

B3| =a

B3| W

ba |

ta |

Question Number : 41 Question Id : 61097512465 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

PO @‘r [ l+.¥.]

The value of |

2+x)2

dyonl € R\{—2} 15

Options :

ot |
i
24X
1.
X
e
— T
24+x
2.
ot
e
—-X
3.
o2
- 5 ot
2+Xx
4.
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Question Number : 42 Question Id : 61097512466 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. 1 ) .
The value of I ~dyon R 13

1+4x=

Options :

S

tan"t(2x) + ¢

—
.
[

B e
—ran “{ax) + ¢

1 S s
——tan “(x)+ ¢

Question Number : 43 Question Id : 61097512467 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: . 2xF—3x+1 4. i
The value of J Zio1) dx 15

Options :

.'f.'g <
b

(x2—1)(x+1)3

—+ log
(I
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1 o .
~+log [ ———|-C
X T Mxe+1l)(x+1)°

3 ‘+ .

(x"+1)(x+1)3

- — log
X

4.

Question Number : 44 Question Id : 61097512468 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: -~ dyv x—2v+1 .
The solution of == 2 15
(s B i 2x—4y

Options :

(x+2v)°+2x =¢
1. )

(x —2V)% — 2y = ¢
23 '

(v —2v) 4+ 2y =7
3.

(x —4v)*+2x =¢
4.

Question Number : 45 Question Id : 61097512469 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- c - 2 e T3 L w3 A A
The solution of the homogenzous difterential equation Xy dv — (x* +1v°)dyv =0 15

Options :

18 = —3x%log(xc)

gcollegeduniaa

]



= 2 . N
ve o= 3x%log{x/c)

Z,

i = 3’loglxze)
3

® = 3x*log(xc)
4,

Question Number : 46 Question Id : 61097512470 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

+ Y COtY = COsS X 15

anw

The solution of the linear ditterential equation

Options:

" — S1ll Y = — P +
1.
. cos 2y
vismy=———+¢
2. N
. ) COs2x .
¥ a1l = o £
' 4
5
: cos 2y i
_‘|T SV = T
4,

Question Number : 47 Question Id : 61097512471 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

gcollegeduniaa
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Orientation : Vertical



: & - . 2 dy ’) ; .
The solution ot Bemoulli's equation ¥~ ek o —v*cosx 15
ey ’ ’

Options :

_}.-3- = = |
- = 3siny +¢

1 e

o __

— == siny 4.c
2.

v :

— =3sinxy® +¢

e
T

x.-i

s — 2 =i Y _|_ {-u

Lr-'i’ t :‘i].-.l. ok
4,

Question Number : 48 Question Id : 61097512472 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The particular integral for the ditferential equation (D + 3D + 2)y = 12x° 15

Options :

3

+ Lax— 2l

bX

6 }L.Z n_ll- 2
4 © + 18y + 21

L ]
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Question Number : 49 Question Id : 61097512473 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The particular integral for the difterential equation 6

Options :

a dv &
+ 17—+ 12v=¢"" 15
dx dx '

Question Number : 50 Question Id : 61097512474 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The particular integral for the differential equation (D? — 4D + 13)v = c0s 21 18

Options :

—{9 pos 2% —8sin 2x)

1435
1.

1 ; o oma W
{9 cosiy+ Bsinly)

145
2
1 ] - , q i ;
~{—Geos 2Y —B8in2y)
3 145

-

]
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(R EEsdr— 8BSl idt)
4 1325

Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required?:

Physics
2
Mandatory
25
25
25
Tes
Yes

Yes

Question Number : 51 Question Id : 61097512475 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- . g d ~ 11 - T . A
Young's modulus of steel 18 2 x 10 N m-. Its value i dyne cm- 15

Options :

2 x 101

1.
2w 1010

2.
Qe a8

3,
2x 10

4.

-

]
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Question Number : 52 Question Id : 61097512476 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dimension of velocity gradient 1s
Options :

: [MPLOT]

5 [MLT]

NI
3 [ }

Question Number : 53 Question Id : 61097512477 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Unit vector parallel to the resultant of vectors A =41 — 3] and B = 81 + 8] will be

Options :
24i+5]
1. 13
12i+5]
13
2.

gcollegeduniaa
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13
3
12i—5j
13
4,

Question Number : 54 Question Id : 61097512478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The resultant of rwo foreces 3P and 2P 1¢ R. If the first force 18 doubled. then the

resultant 15 also doubled. The angle between the two forces is
Options :

T
a1

120°

Question Number : 55 Question Id : 61097512479 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A partiele 15 projected vertically upward with a speed ot 40 m <. then. the velocity of . the particle
2 seconds before it reaches the maximum height is (Take g= 10m s7)

Options :

1.

gcollegeduniaa
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b,

SR &
4 2 ny gt
0.8 ms

- g
4 10 1m s

Question Number : 56 Question Id : 61097512480 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
A car moving with constant acceleration covered the distance between two pomts 60 m

apart m 6 5. Its speed as 1f passes the second point was 15 ms. The acceleration 15

Options :

LS
S 4

Question Number : 57 Question Id : 61097512481 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A stone 15 thrown vertically upwards. When stone s at halt of 1ts maximum
height. 1ts speed 15 10 ms™: then the maximum height attained by the stone 15 (g=10m &~
Options :

25m
101m

1 51

20m

Question Number : 58 Question Id : 61097512482 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

[dentity the correct statement,

Options :

Static tnetion depends on the area of contact.

1.

Kinetic friction depends on the area ot contact,

2,

Coetficient of static friction does not depend on the area of the swrface n contact.

3,

4 Coefficient of kinetic friction 1s le<s than the coefticient of static friction.

collegedunia:s
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Question Number : 59 Question Id : 61097512483 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coethicient of friction between the tyres and the road 15 0.25. The maxiumum
speed with which a car can be driven round a curve of radius 40 m without skiddmg
15 {assume g=10m sj}

Options :

40 ms™

20 my
2.

15 ms!

Question Number : 60 Question Id : 61097512484 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

During a projectile motion. 1f the maxunum height 15 equal to the horizontal range.

then the angle of projection with the horizontal 13

Options:

tan‘l{ 1:)
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tan (3]

Question Number : 61 Question Id : 61097512485 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
The potential energy of a certam spring when stretched through a distance S 15 10
joule, The amount of work (i1 joule) that must be done on this spring to stretch 1t
through additional distance S will be
Options :
30

40

10

1l |_]

4. =

Question Number : 62 Question Id : 61097512486 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A machine gun fires six bullets per second mto a tarzet. The mass of each bullet 15 3

g and the speed 15 500 m s, The power delivered to the bullets 15

Options:

5 228 KW

gcollegeduniaa
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0.75 kW

Question Number : 63 Question Id : 61097512487 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which ot the following is the cheapest renewable energy ?

Options :

Solar energy

7 Wind eneroy

3 Hydel energy

Nuclear energy

4,

Question Number : 64 Question Id : 61097512488 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maxunum velocity of particle executing simiple harmonic motion with an

amplitude of 7 nun 15 4.4 m s, The tume penod of oscillation 15

Options :

i)
1 100 ¢

105

-

]
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(1.1 <

(),0]1 ¢

Question Number : 65 Question Id : 61097512489 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Two waves of lengths 50 em and 31 em produced 12 beats per second. The veloaity of sound 15

Options :

240 m s

1 m s

"._.L_,l

A6 m s

360 m s

4.

Question Number : 66 Question Id : 61097512490 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The apparent frequency of the whistle of an engine changes i the ratio 9:§ as the
engine passes a stationary observer. If the veloeity of the sound is 340 ms™. then the
velocity of the engine 15

Options:

40 m s
1L
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201m s
20 By &

180 m s
4,

Question Number : 67 Question Id : 61097512491 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Quality of sound 15 decided by
Options :

loudness

5 NtEnsity

number of overtones

requency

Question Number : 68 Question Id : 61097512492 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Inaudibility lunat 1s

Options :

1 ong hundredth of initial intensity

gcollegeduniaa
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one tenth of mital mtensity

2

5 one thousandth of mitial intensity

4. one millionth of mstal mrenssty

Question Number : 69 Question Id : 61097512493 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
P . . wikg = - ¢ - - i~
A Carnot’s engine operates with source at 127°C and sk at 27 €. If the source
supplies 40 kT of heat energy. the work done by the engine 15
Options :

1 30 kI

Question Number : 70 Question Id : 61097512494 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A monoatomic gas initially at 17°C is suddenly compressed to one eighth of its

original volunie. The temperature after compression 1s

Options :

gcollegeduniaa
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1160K

1,
, 36.25K
5 2320K
4 S8TK

Question Number : 71 Question Id : 61097512495 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two evlinders of volumes 20 cc and 30 ce have gases at pressures 40 em and 50 cm

of He under the same temperature, It theyv are connected by a very narrow pipe the

pressure m cm of Hg will be

Options :
1 92

Question Number : 72 Question Id : 61097512496 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

gcollegeduniaa
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In an adiabane expanston. a gas does 287 of work while 1 an adiabatic compresston 1007 of work 15

done on a gas. The change of mteral energy m the two processes repectivelv are
Options :

: 25T and -1007

5 .dA) and 1007
3 =8 i -1 00

25T and 100]

Question Number : 73 Question Id : 61097512497 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The volume of one mole of an 1deal gas changes from V to 2V at temperature of 300

K. If R 15 universal gas constant. then work done m this process 15

Options :
1. 300RIn2

3 GOORIn2

3 300In2

4 600ln2

Question Number : 74 Question Id : 61097512498 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

gcollegeduniaa
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The maxmmum kinetie energy of the photoelectrons enutted from a surtace 15 dependent on the

Options :

mtensity of mcident radiation

1.

potential of the collector electrode
2.

frequency of meident radiation

3.

i angle of madent of radiation of the surface

Question Number : 75 Question Id : 61097512499 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In an optical fibre. relation between refractive index of core (n1) and refractrve mdex of claddimng (n2) 15

Options :

1y >z
1.

n1 =2
2

] = 1
3

11] == 112
4.

Chemistry
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Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required? .

3
Mandatory
25

25

25

Yes

Yes

Yes

Question Number : 76 Question Id : 61097512500 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The nucleus consists of
Options:

1. Proton and ¢lectron

2 Proton and Neutron

3 Proton and Duterium

Proton and photan

Question Number : 77 Question Id : 61097512501 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The shape of P-Orbital 15
Options :

: Spherical

-

]
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Dumbhbell
2

3 Double Dumbbell

4. Oval

Question Number : 78 Question Id : 61097512502 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The maximum number of electrons that a t-orbital can accommeodate 15

Options :

Question Number : 79 Question Id : 61097512503 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In NaCl formation Sodium 15 donating ----- clectrons

Options :

0
1.
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Question Number : 80 Question Id : 61097512504 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

O> molecule contains

Options:

1 Covalent bond

lonic bond

7

Hydrogen bond

3.

4 Metalic bond

Question Number : 81 Question Id : 61097512505 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Avagadro Number 15
Options :

;¢ 6.023X {f3

= o grovR )
6.023X 10
2.
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3 60.23X 10~

4 6.023X 10%

Question Number : 82 Question Id : 61097512506 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The normality of the solution obtained by dissolving § em of NaOH m [ Litre 15
Options:

. =N

4 0.02N

Question Number : 83 Question Id : 61097512507 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Molecular weight of MgSOy 15

Options :

120

1.

121
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5 119

122

Question Number : 84 Question Id : 61097512508 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A Lewis base 15 a substance which
Options :

1 Accept protons

5 Accept a lone pair of electrons
Donate pratons

4 Donate lone pair of electrons

Question Number : 85 Question Id : 61097512509 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

EE o : g . .
P~ of a solution i< 4.5, the solution 18

Options :

: Basic

2. Acidic
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5 Neutral

Amphorteric
4,

Question Number : 86 Question Id : 61097512510 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
One Faraday 15 equal to

Options :

06485 €
1.

o
A0
oa
]

A
e

Question Number : 87 Question Id : 61097512511 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Comumon ¢lectrolyvte used 1n the salt bridge 18

Options :

1 NaOQH

5 NaCl
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Question Number : 88 Question Id : 61097512512 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

ST Unats of Electrical conductivity are
Options :

1 Seimens per meter

Seimens per centimerter

3 Semnens per nullimeter

A Seunens per kilometer

Question Number : 89 Question Id : 61097512513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the standard et of the Zn-Cu cell. if the cell 15 represented as Zn. 70 Cu.Cu [EUZH':_EJ]] =(.86

and (E'Cu™ Cup=0.34

Options:

1 1.20V

52N
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-1.20V

-0.11V

Question Number : 90 Question Id : 61097512514 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Permanent Hardness 15 caused due to

Options :

Carbonates and Bicarbonates

5 Carbonates and Sulphates

Chlorndes and Sulphates

Chlorides and Carbonates

Question Number : 91 Question Id : 61097512515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Permutit 15 chemically

Options :

Sodium Silicate

9 Alummium Silicate
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3 Hydrated Sodium alumino silicate

j Calcium silicate

Question Number : 92 Question Id : 61097512516 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The anion exchange resin possesses

Options :

Acidic group

1

5 Basic group

Amphoteric group

3.

Benzo group
4. i

Question Number : 93 Question Id : 61097512517 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Chemaically the rust 1s

Options :

FesO;
1.

&0 Eel)
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3 Fer03. XHO

Fex03.. NH;
4,

Question Number : 94 Question Id : 61097512518 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The gradual loss of a metal by chemical or electrochemical action of environment 1s called

Options :

1 Corrosion
. Caustic embrittlement

Priming

3.

foaming

4,

Question Number : 95 Question Id : 61097512519 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1¢ a thermosettng plastic ?

Options :

; Balelite

Polystyrene
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3 Polythene

A4 Nvlon

Question Number : 96 Question Id : 61097512520 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation ; Vertical

Tetra Fluoro Ethane 15 a monomer ot

Options :

=tlon
Nvlon

Styrene

3

n Rubber

Question Number : 97 Question Id : 61097512521 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Buna-N 13 a copolymer of
Options :

Butadiene and Styrene

1

Butadiene and Acrylonitile
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Butadiene and Isoprene

3

7 Formaldehvde and Styrene

Question Number : 98 Question Id : 61097512522 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Main constituent of Producer gas is

Options :
g OO+

OO0
3.

R i b

Question Number : 99 Question Id : 61097512523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation ; Vertical

Ozone layer 15 present at

Options :
1 Staratosphere
Inosphere
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Thermosphere

Atmosphere

Question Number : 100 Question Id : 61097512524 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acid Ram 15 caused due to
Options :

Chloro Fluoro Carbons

MNethane
2.

Oxides ot Sulphur and Nitrogen
Carbon monaxide

4.

Agricultural Engineering

Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes
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Mark As Answered Required? . Yes

Question Number : 101 Question Id : 61097512525 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Improved form of marking gauge which has two senibmg pus 1

Options :

Sunple seribing block

1.
2. Scriber
3 Seribmg knite

Mortise gauge

Question Number : 102 Question Id : 61097512526 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Hacksaw blade thickness 15

Options :

1. 0.5 mm
0.0
0.7 mm

3.

4 0.8 mm
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Question Number : 103 Question Id : 61097512527 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Example for permanent mould casting 1s

Options :

1. Investment

Gravity die

2.

3 Shell

4. Sand

Question Number : 104 Question Id : 61097512528 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Tool past ot lathe 15 located on the top of

Options :

1 Tail prece

3 Saddle

3 Apron

4 Compound rest

Question Number : 105 Question Id : 61097512529 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Following mechanism makes the carriage to engage or disengage with lead serew

Options:

1 teeding mechanism

5 Half-nut mechaniem

3 Grear mechanism

4 Sereiw mechanism

Question Number : 106 Question Id ;: 61097512530 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

To machine tlat surfaces production. suitable millmg operation 15

Options:

1 Form milling

End muilling

5 Plam milling

4. Profile milling

Question Number : 107 Question Id : 61097512531 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Kineric viscosity of liquid having 5 poise viscosity and 0.8 specific gravity 1s

— -
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Options :

1 6,25 10~ stolees
5 6.25 X 10 stokes
3 6.25x1 03 stokes

4 6.25%10" m¥s

Question Number : 108 Question Id : 61097512532 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Total pressure on an mumersed liquid surtace at an angle 6 with the hqud surtace 15

Options :

T WAX

5 wAY b

WAXY cosb

4 WAX tand

Question Number : 109 Question Id : 61097512533 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A flow whose streamline may be represented by a straight line flow 1s known as

Options :

gcollegeduniaa

]



Stream tunction

1.

5> One-dumensional tlow
3 Incompressible tlow

4 Lnsteady tlow

Question Number : 110 Question Id : 61097512534 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The head of hiquid causing discharge through drowned onfice under pressure between comecting vessels 13

Options:
1 Ditterence of liquid levels

5 Ditterence of pressure heads

Difference of liquid levels = Difference of pressure heads

3.

Dufference of liquid levels - Difference of pressure heads
4.

Question Number : 111 Question Id : 61097512535 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 3000 m- water tank having 1.5 m wide rectangular notch and the height of the water above the sill
15 1 m. The value of Cy,, 0.61. The time needed to empty the tank 15

Options :
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Question Number : 112 Question Id : 61097512536 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Wetted perimeter of trapezoidal chamne] of side slopes 1:1.5 with bottom width 1.5 m and
depth ot tlow 2.5 m1s

Options :

6.8 m
6.0 m
Q.41

10.5m

Question Number : 113 Question Id ;: 61097512537 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Retrigeration system works on which law of thermodynamies ?
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Options :

1 Zeroth

First

5 Second

A Third

Question Number : 114 Question Id : 61097512538 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Solid fuel used tor generation of thermal power 13
Options:
1. Wood

2 Charcoal

T 1onite
4 Lignite

Question Number : 115 Question Id ;: 61097512539 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Internal energy of a perfect zas 15 a function of

Options:
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Volume

Pressure
2.

3 Enthalpy

4 lempsramre

Question Number : 116 Question Id : 61097512540 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Compression ratio of diesel engine 13

Options :

1 14:1 4o 22:1

|
j=—

ot

to 8:
3 10:1 1o 19:1

A 4] for 10:1

Question Number : 117 Question Id : 61097512541 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Primary windmg ot ignition ¢coil 15 made of copper wire of diameter

Options :

0.8 mun
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0.6 min
1.0 mm

0.9 mm

Question Number : 118 Question Id : 61097512542 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the tollowing 15 not used to measure the distance?

Options :

3 Pedometer

4. Barometer

Question Number : 119 Question Id : 61097512543 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Fore and back bearings ot a line ditfer exactly by

Options :

(S
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2.

3 180
260

4. :

Question Number : 120 Question Id : 61097512544 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Instrument used mn measuring distance 13

Options:
1 Offset rods

5. Whites

3 Plumb bob

Cham

Question Number : 121 Question Id : 61097512545 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Compass 15 based on the followimng method of traversing

Options:

; Bv the cham angles

5 By the Iree or loose needle method
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3 By the tast needle method

4 By rake angle

Question Number : 122 Question Id : 61097512546 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In levelling. which denotes the shifting of the level?
Options :

1 Back sight

> Fore sight

Change pomnt

3

4 Bench Mark

Question Number : 123 Question Id : 61097512547 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A curve followed by another curve having the centre in the opposite side 1s called as a

Options :

1 Reverse curyve

5. Sunple curve
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3 Compound curve

4 Transition curve

Question Number : 124 Question Id ;: 61097512548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Method of interpolation adopted tor greater accuracy in drawimg of contour map 1s

Options:

Estmmation

1.

5 Graphical

3 Arthimatical calculation

Cross-sectional

4.

Question Number : 125 Question Id : 61097512549 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Turming of the telescope of the Theodolite in clock-wise direction about 1t's vertical axis m a
horizontal plane 15 called

Options :

Lett swing

1.

> Right swing
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Plunging

3.

4. Tace change

Question Number : 126 Question Id : 61097512550 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If mam scale reading of theodolite 13 344%-40" and vermier division 15 16, the measured angle 15

Options :

1 3457407207

5. 445 A0 Jp

Question Number : 127 Question Id ;: 61097512551 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If angles with theodolite are taken n direct and mverted position. then 1t 15 called as

Options :

: Index error

Swinemng
2 2
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3 Double sighting

4 Centenng

Question Number : 128 Question Id : 61097512552 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Measure of the sharpness of the comers of the solid 15

Options :

1 Crueulanty
Sphericity
2‘ 1 -

Linearity
3. o

Roundness

Question Number : 129 Question Id : 61097512553 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Time of retardation compared to nme for total strain. 1 case of creep 1 about

Options :

63%
1. iz
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Question Number : 130 Question Id : 61097512554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a free tlowing bulk solid. the flow function (FF} value 15
Options :
1, FF%2

5 4FFs2

3 10=FF=4

4 FF>10

Question Number : 131 Question Id : 61097512555 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Recommended speed of belt for carrving grain denvatives is
Options :

35111’

1.

_J

5 289114

=
t I

111 5
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Question Number : 132 Question Id : 61097512556 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Best drum screen cleaner 1s

Options :
Concentric
Series consecutive

2

Parallel consecutive

3.

Eccentric
4.,

Question Number : 133 Question Id : 61097512557 Question Type : MCQ Display Question

e 15 at which

a

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Centre of gravity of an equilateral triangle with each side equal to

distance from any of three sides

Options :

S
ay 3

1. 2

1 u"E
2 3
L ]
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Question Number : 134 Question Id : 61097512558 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If Fiand F; are two forces acting at a pomt O at an angle o then the resultant 1s

Options :

R=" (F{?+F2"+2 F1F c0s(90-))
1.

5

R=" (F1*+F2%-2 F1F) cos(90+00))

R= " (F{’+F+’-2 FiFscos &)

3\

i R=" (F1"+F2"+2 F1F2cos &)

Question Number : 135 Question Id ;: 61097512559 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Load litted ettort applied 1s called as

Options :

1 Veloetty ratio
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2 Mechanical advantage
3 Pitch

n Ettort

Question Number : 136 Question Id : 61097512560 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A combmation of kinematic pams. joined n such a way that the relative motton between the

links 15 completely constrained. 1s called as

Options :

1 Structure

5 Mechanism

3 Kinematic chamn

Inversion

4,

Question Number : 137 Question Id : 61097512561 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Moment of mertia of a rectangle of width b’ and depth d about the base AB 15

Options :
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Question Number : 138 Question Id : 61097512562 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Separation of dry and wet graimns 15 possible with

Options :

1 Inclined belt

Concentric drum

2,

3 Indented dise

Prieumatic separator

Question Number : 139 Question Id ;: 61097512563 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Fineness 1s represented by whole numbers of
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Options :
1-10
i

3. 1-16

1-20

Question Number : 140 Question Id : 61097512564 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the materal 1s passed only once through equipment. then the process of grninding 15
Options :

1 Closed circuit
5 Open cireuit
Free crushing

Choke feeding

4.

Question Number : 141 Question Id : 61097512565 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Filter aid mersases

Options :
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Resistance of cake

1.

Porosity of cake

Density of cake
3,

4. lemperature of cake

Question Number : 142 Question Id : 61097512566 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Axr velocity to keep the grams 1 suspension 15

Options:

1530 m s

1.

3040 11 &

Question Number : 143 Question Id : 61097512567 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In centritugal dehusker. the rotational speed of impeller 15

Options :

EEEETY TR e
1. =000-2300 rpm
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1500-2000 rpm
2.

2500-3000 rpm
3.

4 3000-3300 pm

Question Number : 144 Question Id : 61097512568 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For conditioning the pulses by alternate wetting and drying after sun drymg. moisture 15 added

to the pulses to the tune of
Options :

1.

Y

|

o]
o

6.5%

Question Number : 145 Question Id ;: 61097512569 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In Jadavpur university method of parboiling. steaming ume 15 about

Options :
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3.5 mn

S 8 1
2' 2LoV111E

4.5 1
3. T- 111111

1.2 mun

Question Number : 146 Question Id ;: 61097512570 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ditterential speed of wheat null 15

Options :

1, =

M
L
"
i—l.

(W8]
N
A
[—

Question Number : 147 Question Id ;: 61097512571 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In hydraulic press ghani. the percent o1l loss (left with cake) 15

Options :

1. 3-0%
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S-10%
3, 8-1L
4 10-12%

Question Number : 148 Question Id : 61097512572 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Type of bunds formed at extrenie ends ot the contour bund 15

Options :

1 Supplemental bunds
5 Sude bunds
3 Shoulder bunds

Marginal bunds

Question Number : 149 Question Id : 61097512573 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In moditied USLE. the new tactor introduced 15

Options :

1 Raimnfall tactor

g Soul factor
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Slope tactor

7 Runoff factor

Question Number : 150 Question Id ;: 61097512574 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Order of erosion with respect to configuration

Options :

1 Convex > Concave > Complex
Convex » Complex = Concave

3 Concave = Complex » Convex

Concave = Convex = Complex

Question Number : 151 Question Id : 61097512575 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Tvpe of bed load sampler having high trap etficiency 1s

Options :

1 Basket
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Pressure difference

A4 All of these

Question Number : 152 Question Id : 61097512576 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For design of permanent structures. number of vears of rainfall data 15 to be considered for the design 13

Options :

1 10-20

Question Number : 153 Question Id : 61097512577 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Vertical suction of a plough influences
Options :

Pulverization
1.

o Depth of cut

3 Width of cut
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" Direction of pull

Question Number : 154 Question Id : 61097512578 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Back furrow 1¢ caused while ploughmg 1 done

Options :

1 Centre to sice
) Side to centre
5 Oneway ploughing

Two way

Question Number : 155 Question Id ;: 61097512579 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Devise used to cut the furrow slice vertically from a land ahead ot the plough bottom 15
Options :

1. Gunnel

5 Coulter

Tomzer
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i Gauge wheel

Question Number : 156 Question Id : 61097512580 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Method of ploughimg m which plough works round a strip of unploughed land 13

Options :

Gathering

1.

Casting

3 Head land

4 Dead turrow

Question Number : 157 Question Id : 61097512581 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Thickness of dise of standard disc plough varies from

Options :

1 G0 to 90 mim
Sto 10 mm

2.

3 40 to 60 mm

25 to 30 mm

4.
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Question Number : 158 Question Id : 61097512582 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Night temperature of greenhouse crops 1s generally in the range ot

Options :

ltos°C

1.

5 10 to 153°C

3 710 21 °C

4 15710 30°C

Question Number : 159 Question Id ;: 61097512583 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Common tvpes of cooling pads are made of

Options :
1. Wood

5 Aluminmm
5 (rlass
4 Cellulose
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Question Number : 160 Question Id : 61097512584 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ability of anr to remove solar heat from the greenhouse depends upon its

Options :

; Volume

5 Weight

3 Mass

4 Speed

Question Number : 161 Question Id : 61097512585 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which tvpe of greenhouse 13 construeted on lully terrains?
Options :

1 Lean—to type

) Ridge and turrow type

Uneven span type

Quonset tvpe
4.
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Question Number : 162 Question Id : 61097512586 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Permieter watermg svstem m greenhouse can be used tor crop production

Options :

Benches

1.

Trenches
2.

Travs

Question Number : 163 Question Id ;: 61097512587 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Rocker spravers are operated at pressure

Options :

1 1010 14ke c1

5 141018 ke e

18 to 20 kg cin”

3

20 to 24 kgem”
4,

Question Number : 164 Question Id : 61097512588 Question Type : MCQ Display Question

-

]
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Maxunum spray angle of fan nozzle 13

Options :
6o*

Question Number : 165 Question Id : 61097512589 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Clearance between knife and ledger plate of a reaper ranges trom

Options :

1 0.5 to 1.0nmumn

l1to 101mm
2.

5 0,1 to Smm

4 S to 10mm

Question Number : 166 Question Id : 61097512590 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Cormn picker was first invented by

Options :

] William F. Ketchum

Edmund Quiney
Darcy

William Watson

Question Number : 167 Question Id : 61097512591 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In machmes with tapered spndies. the seed cotton 18 removed from the spmdles by means of rotating
Options :
Straight spundles
Sprocket chain

Spindle moistner

Dofter plate

Question Number : 168 Question Id ;: 61097512592 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

With a solar tocusing tvpe collector. lughest temperature that can be achieved 15 about

Options:
1. 100=C

1000 -C

Question Number : 169 Question Id : 61097512593 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Doubling the diameter of the rotor will result i mnerease m the available wind power by
Options :

1. One fold

> Two fold

3 Threetold

Four told

Question Number : 170 Question Id : 61097512594 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Wind speeds 1n relation to height
Options :

1 Decreases

Increases

4 May increase or decrease

Question Number : 171 Question Id : 61097512595 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Flat plate collectors are not suitable for applications where the temperature s above

Options :

5 100 =C

150 °C

Question Number : 172 Question Id : 61097512596 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Beam radiation 1s also known as
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Options :

1 Solar radiation
9 Direct radiation

Dittusion radiation

3.

Global racdhiation
i o

Question Number : 173 Question Id : 61097512597 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Length recommended for border urigation mn light soils 13

Options :

60-120 m
1.

101804
5 100-1 1

300-400 m
4,

Question Number : 174 Question Id : 61097512598 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which 15 the most economieal layout of the tile dramage system?

gcollegeduniaa

]



Options :
Grid won

1.

o Hemring bene

Random drain

3

4 Interceptor dram

Question Number : 175 Question Id : 61097512599 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In the random tield dramn system. the mummum cross-sectional area should be

Options :

} s 1
0.5 m-"
1.

5 1.0 m-

i
A 1T

.
S0 m-
4, -

Question Number : 176 Question Id : 61097512600 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Inundation wrigation svstem 1s also called as

Options :
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Flood urigation
> Flow nrigation
3 Lift urigation

4 Border umigation

Question Number : 177 Question Id : 61097512601 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Pertorated pipe sprinkler 1s best suited. when height of crop doesn’t exceed

Options:

1 10-40 cm

30-70 cn
60-90 cm

100 cin
4.

Question Number : 178 Question Id : 61097512602 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Substances with one or two valence ¢lectrons are called as

Options :

1 Transistors
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Resistors
2.

Insulators

Good conductors

4,

Question Number : 179 Question Id : 61097512603 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Unit of electrie flux density 15

Options :

1 Coulomb m’°
Coulomb m-

3 Coulomb m

Coulomb
A4,

Question Number : 180 Question Id ;: 61097512604 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which motor. tield coil windmes are connected 1 paraliel

Options :

1 Shunt wound D.C, motor
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A.C.motor
2.

3 Series wound D.C. motor

Compound wound D.C motor
4.

Question Number : 181 Question Id : 61097512605 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Rotating part of the motor 15 called as
Options :

1 Armatue

B 3
Rotot
2.

3 Commutator

Fan

Question Number : 182 Question Id : 61097512606 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ditfterences i the electric potentials of two charged bodies 15 known as

Options :

Conductance
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Current
Potential difterence

Powrer

Question Number : 183 Question Id ;: 61097512607 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A hydrograph 15 a plot of

Options:

Ramtall mmtensity and time

) Runott discharge and time

3 Cumulative ramfall and tume

4 Cumulative mnott and time

Question Number : 184 Question Id : 61097512608 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A part of raintall that mfiltrates and moves laterally through the upper ¢rusts of soil 15

Options :

1 Diurect runott

5 Overland flow
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3 Base iflow

[ntertlow

Question Number : 185 Question Id : 61097512602 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A unit hydrograph has one wut ot

Options :

1 Peak discharge

Direct runoft

2

Ramtall duration
3.

5 Base pertod

Question Number : 186 Question Id : 61097512610 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Flows i small streams are usually due to

Options :

1 O~verland flow

5 Base tlow
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3. Intertlow

" Sub-surface flow

Question Number : 187 Question Id : 61097512611 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Relief of watershed has the urts

Options :

111
1.

L
¢

s¢.kom

Question Number : 188 Question Id ;: 61097512612 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Application efficiency in drip urigation system is

Options :

Q0%

1.

85%
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Question Number : 189 Question Id : 61097512613 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Drip urigation 15 not sutable tor

Options:

Vegetables
Wheat

Fruit crops

3

Tobacco

Question Number : 190 Question Id : 61097512614 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

NMost important component of sprinkler irngation system 1s

Options :

Laterals

Sub main
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Sprinkler head

3.

Pipe

4.

Question Number : 191 Question Id : 61097512615 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Type of system adopted for mango crop 15

Options :

1 On line

In line

Sprinkler
3

i Micro sprinkler

Question Number : 192 Question Id : 61097512616 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Design operatimg pressure head i drip urigation svsteni 1s

Options :
10 m

12m
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14 41
3.

S 1m

Question Number : 193 Question Id : 61097512617 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Tractor tlyivheel having a gear 15 called as

Options :

Rmg gear

1.

Crown wheel

2,

Bull gear
3. =

Helical gear

Question Number : 194 Question Id : 61097512618 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gear which 1s used mn the differential unit of tractor to transmit power at 90”15
Options :

Helical gear

Bevel gear
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Bull gear
3

Straight spur gear
4,

Question Number : 195 Question Id ;: 610975126192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Point on the tractor body at which 1ts weight may be considered as acting 1s called as

Options :

1 Centre of gravity
5 Wheel base

Toe-111

4 Centre of resistance

Question Number : 196 Question Id : 61097512620 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A wheel or an atachment to a wheel with spaced eross bars for unproving the traction of the tractor m a wet field 5 called as

Options :

] Pneumarie wheel

Gauge wheel
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3 Cage whee

4 Rear firrow wheel

Question Number : 197 Question Id : 61097512621 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Temperature range of psychrophilic bacteria tor survival 1s

Options:

0-20 =C

Question Number : 198 Question Id : 61097512622 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which of the following gasifier, Gas produced leaves from the bottom ?

Options :

1 Updraft

5 Downdraft
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3 Cross draft

i Side draft

Question Number : 199 Question Id ;: 61097512623 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Pressure range in case of binderless briquetting process in kg cm-” is

Options:

, 1200-2000

5 300-1000
100-200

50-100

Question Number : 200 Question Id : 61097512624 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
With a cubic meter of bio gas. 1 HP engine can run approximartely for
Options :

5h

1.

Cannot run
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10 h
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